INSTALLATION INSTRUCTIONS @ﬁ[

FOR ITEM 187801 CUSTOM LIGHTING

CAUTION: FAILURE TO INSTALL THIS FIXTURE PROPERLY MAY RESULT IN SERIOUS PERSONAL

INJURY OR DEATH AND PROPERTY DAMAGE. We recommend installation by a licensed electrician.

This product must be installed in accordance with applicable installation code(s), by a person familiar with the
construction and operation of the product and the hazards involved.*

Caution: Do not exceed maximum wattage noted on fixture. Use only recommended bulbs with fixture.

FIXTURE COMPONENTS
1. 55"L LIGHT BAR W/ LEAD WIRE, SAFETY CABLE, & UNO RINGS(QTY 5)
2. UPROD W/ ATTACHED CANOPY ASSEMBLY
3. SHADE ASSEMBLY (QTY 5)

Caution: Be sure power is off at the main breaker box prior to installation.
Read all instructions in thetr entirety before beginning installation.

1. Carefully unpack all components and make certain that everything is accounted for.

2. Remove 1/4-20 Hex Nuts and 1/4-20 Acorn Nuts UPROD TO BEBE
from Studs inside top-center cavity of Light Bar. LIGHT BAR
. . CONNECTION
3. Unravel Fixture Lead Wire and Safety Cable DETAIL
inside top-center cavity of Light Bar. AR
4. Run Fixture Lead Wire, Copper Ground Wire, &
Safety Cable through Uprod and out of top of attached FLANGE
Canopy Assembly.

5. Slide Flange at bottom of Uprod over Studs

extending out of top-center cavity of Light Bar.

6. Attach first 1/4-20 Hex Nuts and then 1/4-20 Acorn Nuts
to Studs protruding through Flange and secure.

7. Remove 1/4-20 Acorn Nuts from Canopy Assembly

to release Mounting Plate.

TOP OF SHADE ASSEMBLY

8. Attach Mounting Plate to ceiling ensuring that STHiiE
connection is suitable for minimum 50Ibs. : ®
9. Attach free end of Safety Cable to structure ensuring

that connection is suitable for minimum of 50lbs. SQUARE 1

10. Make electrical connection from Fixture Lead Wire to
Building Line Wire following all local codes and procedures.
11. Once electrical connection has been successfully made,
slide canopy over Studs on Mounting Plate.

12. Screw 1/4-20 Acorn Nuts onto Studs extending

through Canopy until top of Canopy is flush with ceiling
and fixture is secure.

13. Remove Uno Rings from Sockets. ‘

14. Attach Shades by sliding Sockets through glc()S(I:-II;I'SAR
Square Spider on top of Shades and secure by screwing DETAIL
Uno Rings onto Sockets until tight. )
15. If Shades are not level, adjustments can be made by i
loosening or tightening Studs that attach Shades to o
Square Spider. Gentle tweaks may also be necessary.

15. Install 5 Medium Base 60Watt Bulbs(not included) into Sockets.
16. Power on and ENJOY!!!

-UNO
RING

/
-

SOCKET—

MEYDA.COM | 1.800.222.4009 | SALES@MEYDA.COM



